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Suggested answers and solutions
Part I (Multiple-choice) Answers

1. E
   2. E
    3. B        4. A         5. A
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11. D     12. C      13. B     14. E      15. D
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1. x-intercepts are –2, 0 and 1in turn provide the factors 
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graph 
         is the shape of a negative cubic function so it can be presented as
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(  Answer is E


2. 
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The inverse is 
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4. If 
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                                       (  Answer is A

5. The graph of the inverse function is a reflection of 
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Given graph is symmetric about the line
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6. Given graph is a parabola and has a repeated solution when 
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So the graph of
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with a minimum value at
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                                        ( Answer is D
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Clearly x cannot be 3. Thus domain is R\{3}. The only value that fraction 
[image: image30.wmf]3

1

-

x

cannot take is zero. Thus 
[image: image31.wmf])

(

x

f

cannot be equal to 2. 

· Range is R\{2}.

                                      (  Answer is C

8.  When 
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                                         (Answer is D

9. 
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                                        (  Answer is E


10. Given graph is not a log graph since there is no vertical asymptote.

When  
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According to the graph
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11. Draw the line 
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on the same diagram. We can see that amplitude is 4, period is
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  Answer is D

12. 
[image: image47.wmf]x

x

2

cos

2

sin

3

=

,  
[image: image48.wmf]p

2

0

£

£

x


(
[image: image49.wmf]6

tan

3

1

2

tan

p

=

=

x


(
[image: image50.wmf]2,,2,3

6666

x

pppp

ppp

=+++


(
[image: image51.wmf]71319

,,,

12121212

x

pppp

=



[image: image52.wmf]
                           

[image: image53.wmf]\

  Answer is C
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 Answer is B

14. The given 
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Answer is  E

15. Given graph very much like the parabola 
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This represents a straight line with negative gradient.
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  Answer is  D
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   Answer is A
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                                            Answer is A
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                                         ( Answer is D
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  Answer is  C
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  Answer is D
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       Since P(X=x) represent a probability
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  Answer is B


24. Coefficient of 
[image: image108.wmf]3

x

 is  
[image: image109.wmf]!

3

)!

3

(

!

3

-

=

n

n

C

n


    
Coefficient of 
[image: image110.wmf]4

x

 is  
[image: image111.wmf]!

4

)!

4

(

!

4

-

=

n

n

C

n



Given that 
[image: image112.wmf]!

3

)!

3

(

!

-

n

n

=
[image: image113.wmf]!

4

)!

4

(

!

-

n

n



[image: image114.wmf]Þ



[image: image115.wmf]!

3

)!

4

)(

3

(

!

-

-

n

n

n

=
[image: image116.wmf]4

!

3

)!

4

(

!

-

n

n



[image: image117.wmf]Þ



[image: image118.wmf]4

1

)

3

(

1

=

-

n

    
[image: image119.wmf]Þ

      
[image: image120.wmf]7

=

n


                             
[image: image121.wmf]\

 Answer is E

25.

 
This is a binomial experiment with
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                                   ( Answer is A

26. Out of 10 balls 2 balls are taken simultaneously. Thus, this hyper geometric with 
bottom line equal to 
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 Answer is C

27..X –length of life of the tyre
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  Answer is A

Part 2: Short answers

1.

a.
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2.  X-height of males
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4. 
a. 
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5. 
a. Since
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6. Gradient of the left most line segment is
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 Derivative does not exists at the points  –6, 0, 2 and 6.

[image: image165.wmf]1

2

3

4

5

6

7

-1

-2

-3

-4

-5

-6

-7

1

2

3

4

5

-1

-2

-3

-4

-5

x

y

 

 



   [2 marks]        
b. Domain of the derivative function is 
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7. Intersection points are given by
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